
1 

 

 

 

 

 

 

 

 

PARTS LIST 

 

QTY PART DESCRIPTION 

1 Pr B-Pillar Bracket 

1 Pr Foot Bracket 

1 Pr Sheet Metal Lower Filler Panel 

1 Pr Polycarbonate Upper Filler Panel 

2 Spacer Tube (B-Pillar Bracket) 

2 M6 x 110mm Hex Bolt 

2 M6  Flat Washer 

  

  

  

QTY PART DESCRIPTION 

4 1/4” X 1/2” Flange Head Socket Screw 

6 1/4” X 1/2” Nylon Slot Head Screw 

2 3/8” X 1” Hex Bolt 

2 3/8” Lock Washer 

2 3/8” Flat Washer 

2 3/8” Hex Nut 

  

  

  

  

 

 

 

 

 

 

INSTALLATION 

Read the installation instructions completely and verify that all of the parts listed are accounted for. If you have defective, 
missing or damaged parts or need assistance, please contact Go Rhino Products for fast, friendly customer service at: 1-
888-427-4466 or email: warranty@gorhino.com 

Step-1 Adjust the front seats to the forward position. 
 
Step-2 Beginning with the passenger side use a small screw driver to remove the lower cover off of the entry assist handle, and then 
remove the M5 bolt from inside handle, (Photo 1 & 2).                                                                                                                                                                                                        
                                                                                                         

 

 

 #1 
Passenger 

Side 

 #2 
Passenger 

Side 

Installation Instructions                                                                                           
Partition Transfer Kit Part #570331 

2015 Chevrolet Tahoe PPV 
Do not attempt to install this product on any vehicle other than the one listed above! 

 
 
 

 

Installation Tools Required 

10mm & 9/16” Socket 
9/16” Wrench 
T50 TORX Socket 
5/32” Hex Key 
Flat Blade Screw Driver 
Ratchet & Ratchet Extension 
 

Approximate installation time: 60 min 
 
 
 

 

 



2 

 

Step-3 Position the spacer tube inside the lower opening in entry assist handle and secure the passenger side B-pillar bracket using 
(1) M5 hex bolt and (1) M5  flat washer, (Photo 3 & 4). Leave the bolt loose for final adjustment.                                                           

 

Step-4 Remove the rear plastic trim cover from the front seat outer seat track rail and from the side area of the same track rail, unsnap the 
side area trim and slide forward to remove, (Photo 5 & 6).  

 

 

Step-5 Remove the Torx head bolt securing the rear of the passenger side outer seat track. Align the atttachment hole in the passenger 
side foot bracket with the seat track and reinstall the factory bolt. Leave the bolt loose for final adjustment, (Photo 7 & 8).                                        
Repeat the above steps to install the driver side B-pillar bracket and foot bracket.      

  

 #3 
Passenger 

Side 

 #4 
Passenger 

Side 

 #5 
Passenger 

Side 

 #6 
Passenger 

Side 

 #7 
Passenger 

Side 

 #8 
Passenger 

Side 



3 

 

 
Step-6 With assistance move the partition into the vehicle through the rear door. Lean the partition back, align the partition legs with the 
foot brackets then slide the partition legs over the foot bracket stub tube. 

Step-7 Pivot the partition forward on the foot brackets and align the partition mounting tabs with the B-pillar brackets. Attach each of the 
partition mounting tabs to the B-pillar brackets using (1) 3/8” x 1” hex bolt, (1) 3/8” flat washer, (1) 3/8” lock washer and (1) 3/8” hex nut, 
(Photo 9).  

Tighten the B-pillar bracket nuts and bolts, stub tube nuts and bolts, and seat track bolts. 

 
Step-8 Attach the passenger side lower filler panel to the mounting tabs using (2) ¼” x ½” flange head screws, (Photo 10).                                                                                                                                                                                           

 

 

 
Step-9 Attach the passenger side upper filler panel to the mounting tab and to the lower filler panel using (3) ¼” x ½” nylon slot head 
screws, (Photo 11).                                                                                                                                                                                      

Repeat the above steps to install the driver side upper and lower filler panel. 

Step-10 Reinstall the side area seat track trim covers. Note the seat track rear trim covers will not be reinstalled. 

 

 

 

 
 

 

 #9 
Passenger 

Side 

 #10 
Passenger 

Side 

 #11 
Passenger 

Side 


